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126778 . , CIMARRON CASINO, INC.
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10:32 AM POT-O-GOLD CASINO
07/06/11 Profit & Loss
Accrual Basis January 1 through May 30, 2011

FOOD INCOME-LUCKY D'S
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MACHINE INCOME-LUCKY D'S
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PRISTINE LASER WASH-VACUME
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PRISTINE LASER WASH-WASH
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10:37 AM POT-O-GOLD CASINO

0710611 Profit & Loss
Accrual Basis January through December 2010

Jan - Dec 10
Ordinary income/Expense —)Zf('ll‘g!

income
ATM INCOME w— :
BEER INCOME-LUCKY D'S 872436 = «f 32 — 3B,
BEER INCOME-LUCKYS-2 854748 =tlQ7 = R3I = [k
BEER INCOME-POG iR25 — [y i W =15
CIGARETTE INCOME-LUCKY D'S T T T

el

FOOD INCOME-LUCKY D'S
FOOD INCOME-LUCKYS-2
FOOD INCOME-POG

PRISTINE LASER WASH-VACUME
PRISTINE LASER WASH-VENDING
PRISTINE LASER WASH-WASH

Total income

P (pot=E2.00 - Q0/0




